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BE SURE TO SHOW ALL YOUR WORK
UNLESS OTHERWISE STATED, FINAL ANSWERS MUST
BE EXACT (NO DECIMALS) AND IN LOWEST TERMS
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3. Rounded to the nearest hundredth, what is the largest possible solution 3. 5 }5’
for the equation sec’x= x—sin3x if 0<sx<2% ?

ﬁ?’i"_ Qfﬁ_lf_‘{) g_gii_gl bt

e |
4. To verify the identity sinxtany + secx = sst;:-l , Allie substituted 4, [ ‘ »

l4rad for x on each side. Rounded to the nearest tenth, what
numerical value will each side of this identity be equal to?
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5. Use the statement T7sec8 " sin@ to answer the following questions. {4 marks)
«H,,, a) Verify that this statement is true if 8= —E— . y Algebraically prove that this statement is an
- ‘ 7 identity.
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6. Algebraically prove-each of the following trigonometric identities. (4 marks)
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7. Algebraically solve the equation 3tan’ @+tanf—2=0 for @, where 0°=8< 360° . Round
your final answers to the nearest degree. { ¢ * Az %&, - (3 marks)
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8.  Algebraically determine the general radian solufion of the equation 25m-8 v3. {2 marks)
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9.  Algebraically solve the equation sin28 = sind , where 056(&}23\: . (3 marks)
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